Math Team

Meet 1 Events C and D Problems #1-2 Practice P2
Event C

Problem #1 (“Quickie”; 1 point)
Try to solve each problem within one minute.

1.In AABC, if cosA = — :/—15, determine exactly the value of

Sin A « (MSHSML 2017-18 1C #1)
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1. Determine exactly the value of sinf + cos 8 if 6 = .
(MSHSML 2016-17 1C #1) an?
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Problem #2 (“Textbook”; 2 points) X 77
Try to solve each problem within two minutes. ¥
2.For x in radians, = < x < =, if cotx =3, determme )
N 2 %0 v( =10y /0 R I .
“ett 2, exactly the value of s€c? x - cscx opmace, B2 2
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2.1f sinx == and 0<x < —, determine exactly the value ho

Of COS x « (MSHSML 2016-17 1C #2) r/
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Math Team

Meet 1 Events C and D Problems #1-2 Practice P2
Event D

Problem #1 (“Quickie”; 1 point)
Try to solve each problem within one minute.

1. Determine exactly the remainder when x° — 69@ + 4x —
5 is divided by x — 3. (MSHSML 2017-18 10 #1) n-$=d = N=32

(?vyfe(éﬂu(g),; = 2764 +(2-5=/-20

1. Determine exactly the product of the zeros of the

equation (2x - 7}‘2’<J= 36 (MSHSML 2016-17 1D #1) 70(“ ? =2 (0
UpZ - 2§ym+ 47 =5C 2 rooks [, 1, n-T=b  Ia-F=-
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Problem #2 (“Textbook”; 2 points) L , \ rz 2
Try to solve each problem within two minutes. \/\ﬁh}l Fmﬁu'o\ e
soalies % 2.For what values of m does the product of the roots of
17 HC -"’ wm an'q
'["_";,‘A‘u e 4(x - Zm)z equal 11? (MSHSML 2017-18 1D #2) (Mos
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2. For what value of a does the polynomial 3x* + ax + 10
have 2 as a root? wsuswiassir o)
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